
S-1 

 

Supporting Information 

 

Palladium-Catalyzed Desilylative Acyloxylation of Silicon-Carbon Bonds on 

Trimethylsilylarenes: Synthesis of Phenol Derivatives from Trimethylsilylarenes 

 

Keisuke Gondo, Juzo Oyamada, and Tsugio Kitamura* 

Department of Chemistry and Applied Chemistry, Graduate School of Science and Engineering, 

Saga University, Honjo-machi, Saga 840-8502, Japan 

 

 

 

Contents 

 

1. Solvent Effect on Pd-catalyzed Acetoxylation of 1a  ························ S2 

 

2. General Procedure for Reaction of Trimethylsilylarenes 1 with PhI(OCOCF3)2 in the Presence of 

Pd(OAc)2 in AcOH      ························ S2 

 

3. One-pot Synthesis of Phenols by Desilylative Acetoxylation Followed by Hydrolysis 

        ························ S2 

 

4. Spectral Data of Products     ························ S3 

 

5. NMR Spectra of Products    ························ S7 

 

 

 

 

  



S-2 

 

1. Solvent Effect on Pd-catalyzed Acetoxylation of 1a 

 

Solvent effect on the Pd-catalyzed acetoxylation of 1-fluoro-4-(trimethylsilyl)benzene (1a)
a 

 

entry solvent yield (%)
b 

1 AcOH 32 

2 DMF 0 

3 MeCN 0 

4 DCE 0 

5 THF 0 

6 DME 0 

7 AcOH
c 

16 
a 

Conditions: 1a (0.2 mmol), PhI(OAc)2 (0.2 mmol), Pd(OAc)2 (0.02 

mmol), solvent (1 mL), 80 °C, and 17 h. 
b 

Yield was determined by 
19

F 

NMR using hexafluorobenzene as an internal standard. 
c 

Ac2O (0.2 mL) 

was added. 

 

 

2. General Procedure for Reaction of Trimethylsilylarenes 1 with PhI(OCOCF3)2 in the 

Presence of Pd(OAc)2 in AcOH 

 A mixture of a trimethylsilylarene (1) (0.4 mmol), PhI(OCOCF3)2 (0.6 mmol), and 

Pd(OAc)2 (0.02 mmol) in AcOH (1 mL) was stirred at 80 °C for 17 h. The reaction mixture was 

poured into aqueous NaHCO3 solution and extract with CH2Cl2 (20 mL × 3). The combined organic 

extract was dried over anhydrous Na2SO4 and concentrated under a reduced pressure. The pruduct 

was separated by column chromatography on silica gel with hexane/AcOEt eluent. 

 

3. One-pot Synthesis of Phenols by Desilylative Acetoxylation Followed by Hydrolysis 

 A mixture of 1 (0.4 mmol), PhI(OAc)2 (0.6 mmol), and Pd(OAc)2 (0.02 mmol) in AcOH (1 

mL) was stirred at 80 °C for 17 h. To the reaction mixture, then, was added water (1 mL) and the 

mixture was stirred at 100 °C for 3 h. The reaction mixture was poured into aqueous NaHCO3 

solution and extract with CH2Cl2 (20 mL × 3). The combined organic extract was dried over 

anhydrous Na2SO4, and concentrated under a reduced pressure. The product was separated by 

column chromatography on silica gel with hexane/AcOEt eluent. 

 

  



S-3 

 

4. Spectral Data of Products 

 

4-Fluorophenyl acetate (2a):
1
 The product was obtained as a colorless oil. Yield, 0.055 g (90%); 

1
H NMR (400 MHz, CDCl3) δ 2.29 (s, 3H), 7.04-7.05 (m, 4H); 

13
C NMR (100 MHz, CDCl3) δ 20.7, 

115.8 (d, J = 23 Hz), 122.8 (d, J = 9 Hz), 146.4, 158.8, 160.0 (d, J = 242 Hz), 169.2; 
19

F NMR (376 

MHz, CDCl3) δ -117.3. 

 

Phenyl acetate (2b):
2
 The product was obtained as a colorless oil. Yield, 0.048 g (88%); 

1
H NMR 

(400 MHz, CDCl3) δ 2.30 (s, 3H), 7.09 (d, J = 8 Hz, 2H), 7.26 (t, J = 8 Hz 1H), 7.38 (t, J =8 Hz, 

2H); 
13

C NMR (100 MHz, CDCl3) δ 21.1, 121.5, 125.8, 129.4, 150.1, 169.4. 

 

4-Mehylphenyl acetate (2c):
3
 The product was obtained as a colorless oil. Yield, 0.056 g (93%); 

1
H NMR (400 MHz, CDCl3) δ 2.28 (s, 3H), 2.34 (s, 3H), 6.96 (d, J = 8 Hz 2H), 7.17 (d, J = 8 Hz, 

2H); 
13

C NMR (100 MHz, CDCl3) δ 20.8, 21.0, 121.2, 129.9, 135.4, 148.4, 169.7. 

 

4-Chlorophenyl acetate (2d):
4
 The product was obtained as a colorless oil. Yield, 0.066 g (97%); 

1
H NMR (400 MHz, CDCl3) δ 2.29 (s, 3H), 7.03 (d, J = 8 Hz, 2H), 7.34 (d, J = 8 Hz, 2H); 

13
C 

NMR (100 MHz, CDCl3) δ 21.0, 122.9, 129.4, 131.1, 149.1, 169.1. 

 

4-Bromophenyl acetate (2e):
5
 The product was obtained as a colorless oil. Yield, 0.077 g (90%); 

1
H NMR (400 MHz, CDCl3) δ 2.29 (s, 3H), 6.98 (d, J =8 Hz, 2H), 7.49 (d, J = 8 Hz, 2H); 

13
C NMR 

(100 MHz, CDCl3) δ 21.0, 118.8, 123.3, 132.4, 149.6, 169.0. 

 

4-Iodophenyl acetate (2f):
6
 The product was obtained as a colorless oil. Yield, 0.098 g (94%); 

1
H 

NMR (400 MHz, CDCl3) δ 2.29 (s, 3H), 6.86 (d, J = 8 Hz, 2H), 7.68 (d, J = 8 Hz, 2H); 
13

C NMR 

(100 MHz, CDCl3) δ 21.0, 89.8, 123.7, 138.4, 150.4, 169.0. 

 

4-tert-Butylphenyl acetate (2g):
1
 The product was obtained as a colorless oil. Yield, 0.075 g(98%); 

1
H NMR (400 MHz, CDCl3) δ 1.31 (s, 9H), 2.29 (s, 3H), 7.00 (d, J = 8 Hz, 2H), 7.38 (d, J = 8 Hz, 

2H); 
13

C NMR (100 MHz, CDCl3) δ 21.1, 31.3, 34.4, 120.8, 126.3, 148.3, 148.5, 169.6. 

 

Ethyl 4-acetoxybenzoate (2h):
7
 The product was obtained as a colorless oil. Yield, 0.076 g (91%); 

1
H NMR (400 MHz, CDCl3) δ 1.39 (t, J = 7 Hz, 3H), 2.32 (s, 3H), 4.37 (q, J = 7 Hz, 2H), 7.17 (d, J 

= 8 Hz, 2H), 8.08 (d, J = 8 Hz, 2H); 
13

C NMR (100 MHz, CDCl3) δ 14.3, 21.1, 61.0, 121.5, 128.0, 

131.1, 154.1, 165.8, 168.8. 

 

2-Acetylnaphthalene (2i):
1
 The product was obtained as a white solid; mp 62–64 °C. Yield, 0.068 

g (92%); 
1
H NMR (400 MHz, CDCl3) δ 2.35 (s, 3H), 7.21-7.86 (m, 7H); 

13
C NMR (100 MHz, 

CDCl3) δ 21.0, 118.4, 121.0, 125.6, 126.5, 127.5, 127.7, 129.3, 131.4, 133.7, 148.3, 169.5. 



S-4 

 

 

4-(4’-Mehtylphenyl)phenyl acetate (2j):
8
 The product was obtained as a yellow solid, mp 

98–100 °C. Yield, 0.085 g (94%); 
1
H NMR (400 MHz, CDCl3) δ 2.32 (s, 3H), 2.39 (s, 3H), 7.14 (d, 

J = 8 Hz, 2H), 7.24 (d, J = 8 Hz, 2H), 7.46 (d, J = 8 Hz, 2H), 7.57 (d, J = 8 Hz, 2H) ; 
13

C NMR (100 

MHz, CDCl3) δ 21.0, 21.1, 121.7, 126.9, 127.9, 129.5, 137.1, 137.4, 138.9, 149.8, 169.5. 

 

3-Methylphenyl acetate (2k):
9
 The product was obtained as a colorless oil. Yield 0.052 g (86%); 

1
H NMR (400 MHz, CDCl3) δ 2.28 (s, 3H), 2.35 (s, 3H), 6.87-6.90 (m, 2H), 7.04 (d, J = 8 Hz, 1H), 

7.25 (t, J = 8 Hz, 1H); 
13

C NMR (100 MHz, CDCl3) δ 21.0, 21.2, 118.4, 122.1, 126.6, 129.1, 139.5, 

150.6, 169.5. 

 

3-Chlorophenyl acetate (2l):
10

 The product was obtained as a colorless oil. Yield 0.060 g (88%); 
1
H NMR (400 MHz, CDCl3) δ 2.29 (s, 3H), 7.00 (d, J = 8Hz, 1H), 7.13 (s, 1H), 7.20-7.32 (m, 2H); 

13
C NMR (100 MHz, CDCl3) δ 20.9, 119.9, 122.2, 126.0, 130.0, 134.5, 151.1, 168.8. 

 

3-Bromophenyl acetate (2m):
11

 The product was obtained as a colorless oil. Yield 0.077 g (90%); 
1
H NMR (400 MHz, CDCl3) δ 2.30 (s, 3H), 7.05 (d, J = 8 Hz, 1H), 7.23-7.29 (m, 2H), 7.37 (d, J = 8 

Hz, 1H); 
13

C NMR (100 MHz, CDCl3) δ 21.0, 120.4, 122.3, 125.0, 128.9, 130.4, 151.1, 168.9. 

 

4-Trimethylsilylphenyl acetate (2n):
12

 The product was obtained as a colorless oil. Yield 0.056 g 

(67%); 
1
H NMR (400 MHz, CDCl3) δ 0.26 (s, 9H), 2.30 (s, 3H), 7.07 (d, J = 8 Hz, 2H), 7.52 (d, J = 

8 Hz 2H); 
13

C NMR (100 MHz, CDCl3) δ -1.1, 21.1, 120.8, 134.5, 137.9, 151.3, 169.4. 

 

4-Fluoro-3-trimethysilylphenyl acetate (2o): The product was obtained as a colorless oil. Yield 

0.077 g (85%); 
1
H NMR (400 MHz, CDCl3) δ 0.31 (s, 9H), 2.29 (s, 3H), 6.96-7.04 (m, 3H); 

13
C 

NMR (100 MHz, CDCl3) δ -1.3, 21.0, 115.5 (d, J = 28 Hz), 124.1 (d, J = 9 Hz), 127.4, 127.5, 146.4, 

164.6 (d, J = 238 Hz), 169.6; 
19

F NMR (376 MHz, CDCl3) δ -105.3. HRMS (EI
+
) calcd for 

C11H15FO2Si 226.0825, found 226.0825. Applying the principle of substituent additivity, the 

observed chemical shifts of aromatic carbons are in fair agreement with the values estimated by 

applying the principle of substituent additivity to 2o, not for 2-fluoro-5-trimethylsilylphenyl acetate. 

 

2-Naphthol (3a):
13

 The product was obtained as a white solid, mp 118–120 °C. Yield 0.052 g 

(90%); 
1
H NMR (400 MHz, CDCl3)δ4.88 (s, 1H), 7.09-7.76 (m, 7H); 

13
C NMR (100 MHz, 

CDCl3) δ109.5, 117.7, 123.6, 126.3, 126.5, 127.7, 128.9, 129.8, 134.5, 153.2. 

 

4-(4’-Methylphenyl)phenol (3b):
14

The product was obtained as a white solid, mp 151–153 °C. 

Yield 0.068 g (92%); 
1
H NMR (400 MHz, CDCl3) δ 2.38 (s, 3H), 4.78 (s, 1H), 6.89 (d, J = 8 Hz, 

2H), 7.22 (d, J = 8 Hz, 2H), 7.43-7.47 (m, 4H); 
13

C NMR (100 MHz, CDCl3) δ 21.0, 115.6, 126.5, 

128.2, 129.4, 133.9, 136.4, 137.8, 154.7. 



S-5 

 

 

2-Naphthyl propanoate (4a):
15

 The product was obtained as a white solid, mp 42–44 °C. Yield 

0.071g (89%); 
1
H NMR (400 MHz, CDCl3) δ 1.31 (t, J = 7 Hz, 3H), 2.65 (q, J = 7 Hz 2H), 

7.22-7.84 (m, 7H); 
13

C NMR (100 MHz, CDCl3) δ 9.1, 27.7, 118.4, 121.1, 125.6, 126.5, 127.6, 

127.7, 129.3, 131.3, 133.7, 148.4, 173.1. 

 

2-Naphthyl pentanoate (4b): The product was obtained as a colorless oil. Yield 0.079 g (87%); 
1
H 

NMR (400 MHz, CDCl3) δ 1.00 (t, J = 8 Hz, 3H), 1.48 (sext, J = 8 Hz, 2H), 1.79 (quint, J = 8 Hz, 

2H), 2.62 (t, J = 8 Hz, 2H), 7.21-7.86 (m, 7H); 
13

C NMR (100 MHz, CDCl3) δ 13.7, 22.2, 27.0, 

34.1, 118.5, 121.2, 125.6, 126.5, 127.6, 127.7, 129.3, 131.4, 133.7, 148.4, 172.5. HRMS (EI
+
) calcd 

for C15H16O2 228.1150, found 228.1150. 

 

2-Naphthyl 2-methylpropanoate (4c):
7
 The product was obtained as a white solid; mp 30–32 °C. 

Yield 0.063 g (73%); 
1
H NMR (400 MHz, CDCl3) δ 1.36 (d, J = 8 Hz, 6H), 2.86 (q, J = 8 Hz, 1H), 

7.21 (d, J = 8 Hz, 1H), 7.45-7.85 (m, 6H) ; 
13

C NMR (100 MHz, CDCl3) δ 18.9, 34.2, 118.4, 121.1, 

125.5, 126.4, 127.5, 127.7, 129.3, 131.3, 133.7, 148.5, 175.7. 

 

2-Naphthyl cyclohexanecarboxylate (4d): The product was obtained as a white solid, mp 

60–62 °C. Yield 0.046g (45%). 
1
H NMR (400 MHz, CDCl3) δ 1.26-2.13 (m, 10H), 2.58-2.64 (m, 

1H), 7.19-7.85 (m, 7H); 
13

C NMR (100 MHz, CDCl3) δ 25.3, 25.6, 28.9, 43.1, 118.3, 121.1, 125.4, 

126.3, 127.4, 127.6, 129.2, 131.3, 133.7, 148.5, 174.5. HRMS (EI
+
) calcd for C17H18O2 254.1307, 

found 254.1308. 

 

2-Naphthyl cyclopropanecarboxylate (4e): The product was obtained as a white solid, mp 

60–61 °C. Yield 0.048 g (57%); 
1
H NMR (400 MHz, CDCl3) δ 1.03-1.08 (m, 2H), 1.20-1.23 (m, 

2H), 1.87-1.93 (m, 1H), 7.23-7.86 (m, 7H); 
13

C NMR (100 MHz, CDCl3) δ 9.3, 13.0, 118.4, 121.2, 

125.5, 126.4, 127.6, 127.7, 129.2, 131.3, 133.7, 148.4, 173.6. HRMS (EI
+
) calcd for C14H12O2 

212.0837, found 212.0837. 

 

2-Naphthyl benzoate (4f):
16

 The product was obtained as a white solid, mp 102–104 °C. Yield, 

0.054 g (54%); 
1
H NMR (400 MHz, CDCl3) δ 7.35-8.27 (m, 12H); 

13
C NMR (100 MHz, CDCl3) δ 

118.7, 121.2, 125.7, 126.5, 127.6, 127.8, 128.6, 129.4, 129.5, 130.2, 131.5, 133.6, 133.8, 148.5, 

165.3. 

 

 

References 

(1) Das, R.; Chakraborty, D. Synthesis 2011, 1621-1625. 

(2) Magens, S.; Ertelt, M.; Jatsch, A.; Plietker, B.; Magens, S. Org. Lett. 2008, 10, 53-56. 

(3) Xi, Z.; Hao, W.; Wang, P.; Cai, M. Molecules 2009, 14, 3528-3537. 



S-6 

 

(4) Wu, H.; Hynes, J. Org. Lett. 2010, 12, 1192-1195. 

(5) Huang, Z.; Reilly, J. E.; Buckle, R. N. Synlett 2007, 1026-1030. 

(6) van der Born, D; Sewing, C; Herscheid, J. D. M.; Windhorst, A. D.; Orru, R. V. A.; Vugts, D. J. 

Angew. Chem., Int. Ed. 2014, 53, 11046-11050. 

(7) Chakraborti, A. K.; Shivani J. Org. Chem. 2006, 71, 5785-5788. 

(8) Wei, S.; Ma, Z.; Wang, P.; Dong, Z.; Ma, J. J. Mol. Catal. A, Chem, 2013, 370, 175-181. 

(9) Chakraborti, A. K.; Chankeshwara, S. V. J. Org. Chem. 2009, 74, 1367-1370. 

(10) Thalji, R. K.; Ellman, J. A.; Bergman, R. G. J. Am. Chem. Soc. 2004, 126, 7192-7193. 

(11) Chen, W.; Chuang, W.; Jeng, U.; Sheu, H.; Lin, H. J. Am. Chem. Soc. 2011, 133, 

15674-15685. 

(12) Tobisu, M.; Kita, Y.; Ano, Y.; Chatani, N. J. Am. Chem. Soc. 2008, 130, 15982-15989. 

(13) Gozzo, F. C.; Fernandes, S. A.; Rodrigues, D. C.; Eberlin, M. N.; Marsaioli, A. J. J. Org. Chem. 

2003, 68, 5493-5499. 

(14) Yuen, O. Y.; Wong, S. M.; Chan, K. F.; So, C. M.; Kwong, F. Y. Synthesis 2014, 46, 

2826-2832. 

(15) Alden-Danforth, E.; Scerba, M. T.; Lectka, T. Org. Lett. 2008, 10, 4951-4953. 

(16) Chen, C.; Kuo, J.; Pawar, V. D.; Munot, Y. S.; Weng, S.; Ku, C.; Liu, C. J. Org. Chem, 2005, 

70, 1188-1197. 

 

 

  



S-7 

 

5. NMR Spectra of Products 

 

4-Fluorophenyl acetate (2a) 

 

 



S-8 

 

 

  



S-9 

 

Phenyl acetate (2b) 

 

 

  



S-10 

 

4-Mehylphenyl acetate (2c) 

 

 

  



S-11 

 

4-Chlorophenyl acetate (2d)  

 

 

  



S-12 

 

4-Bromophenyl acetate (2e) 

 

 

  



S-13 

 

4-Iodophenyl acetate (2f) 

 

 

  



S-14 

 

4-tert-Butylphenyl acetate (2g) 

 

 

  



S-15 

 

Ethyl 4-acetoxybenzoate (2h) 

 

 

  



S-16 

 

2-Acetylnaphthalene (2i) 

 

 

  



S-17 

 

4-(4’-Mehtylphenyl)phenyl acetate (2j) 

 

 

  



S-18 

 

3-Methylphenyl acetate (2k) 

 

 

  



S-19 

 

3-Chlorophenyl acetate (2l) 

 

 

  



S-20 

 

3-Bromophenyl acetate (2m) 

 

 

  



S-21 

 

4-Trimethylsilylphenyl acetate (2n) 

 

 

  



S-22 

 

4-Fluoro-3-trimethysilylphenyl acetate (2o)

 

 



S-23 

 

 

  



S-24 

 

2-Naphthol (3a) 

 

 

  



S-25 

 

4-(4’-Methylphenyl)phenol (3b) 

 

 

  



S-26 

 

2-Naphthyl propanoate (4a) 

 

 

  



S-27 

 

2-Naphthyl pentanoate (4b) 

 

 

  



S-28 

 

2-Naphthyl 2-methylpropanoate (4c) 

 

 

  



S-29 

 

2-Naphthyl cyclohexanecarboxylate (4d) 

 

  



S-30 

 

2-Naphthyl cyclopropanecarboxylate (4e) 

 

 

  



S-31 

 

2-Naphthyl benzoate (4f) 

 

 


